
L3(9).21 (mod 2)

blocks defect matrix

G : 1 8 26× 3
2 0 12801 = χ10+, ϕ3+

3 0 12802 = χ12+, ϕ5+

4 0 12803 = χ14+, ϕ7+

5 0 12804 = χ16+, ϕ9+

6 0 12805 = χ18+, ϕ11+

7 0 12806 = χ20+, ϕ13+

8 0 12807 = χ22+, ϕ15+

9 0 12808 = χ24+, ϕ17+

blocks defect matrix

10 0 12809 = χ26+, ϕ19+

11 0 128010 = χ28+, ϕ21+

12 0 128011 = χ30+, ϕ23+

13 0 128012 = χ32+, ϕ25+

14 0 128013 = χ34+, ϕ27+

15 0 128014 = χ36+, ϕ29+

16 0 128015 = χ38+, ϕ31+

17 5 11× 1
18 5 11× 1

Block 1: ϕ1,0 ϕ2,0 ϕ35,0

11 = χ1,0 1 . .
12 = χ1,1 1 . .

901 = χ2,0 . 1 .
902 = χ2,1 . 1 .
911 = χ3,0 1 1 .
912 = χ3,1 1 1 .
1821 = χ4+ 2 2 .
1822 = χ6+ 2 2 .
1823 = χ8+ 2 2 .

14561 = χ44+ . . 2
14562 = χ46+ . . 2
7291 = χ76,0 1 . 1
7292 = χ76,1 1 . 1
8191 = χ77,0 1 1 1
8192 = χ77,1 1 1 1
16381 = χ78+ 2 2 2
16382 = χ80+ 2 2 2
16383 = χ82+ 2 2 2
9101 = χ84,0 2 2 1
9102 = χ84,1 2 2 1
9103 = χ85,0 2 2 1
9104 = χ85,1 2 2 1
9105 = χ86,0 2 2 1
9106 = χ86,1 2 2 1
18201 = χ87+ 4 4 2
18202 = χ89+ 4 4 2

ϕ1,0 = 11
ϕ2,0 = 901
ϕ35,0 = 7283



Block 17: ϕ33,0

7281 = χ40,0 1
7282 = χ40,1 1
7285 = χ42,0 1
7286 = χ42,1 1
14563 = χ48+ 2
14565 = χ52+ 2
14567 = χ56+ 2
14569 = χ60+ 2
145611 = χ64+ 2
145613 = χ68+ 2
145615 = χ72+ 2

ϕ33,0 = 7281

Block 18: ϕ34,0

7283 = χ41,0 1
7284 = χ41,1 1
7287 = χ43,0 1
7288 = χ43,1 1
14564 = χ50+ 2
14566 = χ54+ 2
14568 = χ58+ 2
145610 = χ62+ 2
145612 = χ66+ 2
145614 = χ70+ 2
145616 = χ74+ 2

ϕ34,0 = 7282


